CMR
INSTITUTE OF
TECHNOLOGY

Internal Test -1 November 2021

Sub: WO;;e}ations Maﬁégement

Code: | 18ME56
Max . 5TH .
Date: 12/11/21 Duration: 90 mins Marks: 50 Sem: Branch: | ME
" Note: Answer any five questions:
;_No Questi i
e e Marks | CO |RBT
1 Define Operations Management. Explain Production systems with [10] |co1| L1
examples?
Bosch Tools produce automobile components whose estimated demand is
6, 25,000 units company works for 5 days a week, 50 weeks/year & 8
hrs/day. Manufacturing reamers requires 3 stages of operation, following
is the additional information given below:
Process Average Average
Stage time per | down time | daily setup | % defects
unit (Min) (Min) time (Min)
; 20 100 15 5
2 | Turning [10] |co2 | L3
| Milling 30 160 45 7
|
| Grinding 50 40 10 2
a. Determine stage & overall stage efficiency?
b. Determine the production rate for every stage?
c. Determine number of milling, turning & grinding machines
required?
d. Total cost in procuring these machines if milling machine costs
Rs3 lakhs, turning & grinding costs Rs2 lakhs each?
3 |What is meant by productivity? Explain different techniques to improve | [10] |CO1 | L1
productivity?
A Burger factory produces 50,000 burgers each week The equipment costs
Rs 5,000 and will remain productive for 3 years the annual labor cost is Rs
8,000.
4 10] |CO2 | L3
a. Determine productivity over a 3 year Period? [10]
b. Management has the option of Rs 10,000 equipment with an operating
life of five years it would reduce labor costs to Rs 4,000 per year. Should
management purchase this equipment?
Exolain d £ . ity?
5 xplain different factors affecting productivity (10] |co1 11




A Firm makes two products X & Y And has a total production capacity of 9
ton’s per day. X&Y Requiring the same production capacity the firm has a
permanent contract to supply at least 2 ton’s of X and at least 3 ton’s of Y
per day to another company each ton of X requires 20 Machine hours
production time and each ton of Y requires 50 machine hours Production
time the daily maximum possible no. of hours is 360 all the firms output
can be Sold and the profit obtained is Rs 800 per ton of X and Rs 1200 per
ton of Y respectively.

Formulate The LPP and solve it graphically?

[10]

CO2

L3

CI CCI

HOD




CMR
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Sub: i Operations Management Code: | 18ME56
Max . TH .
Date: 12/11/21  Duration: 90 mins Marks: 50 sem: 2 Bl ME
Note: Answer any five questions, Missing data if any may be assumed suitably:
QN Guesti OBE
s i Marks | CO |[RBT
| Explanation of Operations Management -2 Marks
1a | Explanation of four different production systems-8 Marks (2 Marks each- (10] |CO1 | L1
2X4)
a. Determination of stage & overall stage efficiency-3 Marks
b. Determination of production rate for every stage-2 Marks
75 c. Determine number of milling, turning & grinding machines [10] |CO2 | L3
required- 3 Marks
d. Total cost of procurement —2 Marks
Explanation of productivity- 2 Marks
3a | Explanation of eight different techniques to improve productivity-1 Mark [10] |CO1 L1
each (1X8)
a. Determination of productivity over a 3 year Period- 5 Marks
2s " b. Management has the option of Rs 10,000 equipment with an operating (0] |co2 | 13
life of five years it would reduce labor costs to Rs 4,000 per year. Should
management purchase this equipment- 5 Marks
Explanation of different factors affecting productivity Six internal factors
5a and four external factors 1 Mark each (6+4) [08] |CO1 L4
Formulation of LPP-6 Marks
6a  Graphical solution- 4 Marks [05] |CO1 L1
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